MULTIPLICATION: DECIMAL NUMBERS (H - SET 2)

Name:
CHALLENGE
Time: Score: y—
541) (0.9 x 4.54 = 556) 5 X 0.125 =
2) 11 % 0.0462 = "0 0.04 X 4.35 =
53 0.001 x 2.71 = w5 0.07 % 0.195 =

s4) (0.8 X 4.9 =

5 0.9 x 4.1 =

516) 8 X 42.5 =

547 (.01 x 93 =

45 0.006 x 3.1 =

509) (0.9 x 330 =

550) 2 X 0.206 =

1) (0.8 X 4.28 =

552) (0.011 x 49 =

553 0.0002 x 1.17 =

554)  (0.001 x 0.0162 =

555)  (0.0005 x 22.9 =

Mathematics: Multiplication - Level 6 - Horizontal - Set 2
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0.0001 x 290 =

3% 1.92 =

1.1 x 21.5 =

4 x0.153 =

0.03 x 74 =

0.001 x 0.085 =

I x11 =

0.0001 x 0.0273 =

0.02 x 0.44 =

3 X 22.8 =

9 x 190 =

9 x 314 =
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